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1) @+x+2) @2 @—Dx-=5 @ (x+3)z—2) @) (x+2)(z—4)
1) z224+3z+2=z’+1+2zx+1X%2
=(x+1)z+2)
2) z =6z +5=z2+{(=1)+(=b)r+(—1)X(=5)
=(z—1)x—5)
3) zi4+z—6=2+{34+(=2)x+3X(=2)
=(x+3)x—2)
4) 2*—2zx—8=z*4+{2+ (-4l +2X(—4)
=(x+2)(x—4)

g (1) (x+1)xz—5) 2) (z4+7)x—1) 3) (z4+4)xz—2) 4) (x+3)x—5)
6) W+7y—-2) (6) (a+3)a—10)

1) z?—4zr—5=x*+{1+(=5)r+1X(=5)
=(x+1)x—5)

2) 2’46z —T=z*+{T+(=Dle+7x(=1)
=(z+7)(xz—1)

(3) z 42r—8=x +{4+(=2)x+4X(-2)
=(x+4)x—2)

4) z*—2r—15=2*4+{34+(=5)z+3X(=5)
=(x+3)x—>5)

5) y*+5y—14=y*+{7T+(=2)ly +7x(—2)
=y+7y—2)

6) a®*—T7a—30=a’+{3+(—10)}a +3x(—10)
=(a +3)a —10)

1) (x+2)(x+4) 2) (x—=3)Nxz—4) (3) (x+3)z+9) (4 (x—4)xz—6)
1) z°+6x+8=x*+(2+4)r+2%x4
=(x+2)(z+4)
2) 2?—Tr+12=224{(=3)+(=4d)jz+(=3)x(—4)
=(z—3)x—4)
3) 2*+12x+27=2*+(3+9)z+3 %9
=(x+3)x+9)
4) 22—10z+24 =22+ {(—4)+(—6)lx +(—4) X (—6)
=(x—4)x—6)



